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SN EAD
e

HE: HLES B3
e A5 S AR (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
HAS ™2l A& 30,000 0 30,000
301 LBt A= 30,000 0 30,000
12 JIEtE A2 30,000 0 30,000
OHAIE XHeldl X 200,000 *3005 *50% 30,000
SEHHE XAAS 231,750 231,750 0]
307 2iz2tol A 231,750 231,750 0
05 QIZ2t E 2 231,750 231,750 0
Ot o232 XA 208,575
—oZ2xd= 50,000& 9, 0005 *1.53| *30% 202,500
— =2 202,500,000 *3% 6,075
O£ NSSER AIAY 23,175
—11ssE & 12,500& 9005 *4 3L x50% 22,500
— g 22,500, 0002 *3% 675
FARMAZ NLAXHE KA (BAE M, S8 1,435,202 1,784,997 349,795
MZH XI)
J| 478,400
& 159,467
= 797,335
301 et A =2 1,435,202 1,784,997 A 349,795
J| 478,400
& 159,467
= 797,335
12 JIEtE2 A= 1,435,202 1,784,997 A 349,795
OEANE MA =2t HIEXHl X3 ALY 1,435,202
Dl 478,400
= 159,467
= 797,335
ENE SHE2 ANSALY 108,000 108,000 0
402 812t XHE0| & 108,000 108,000 0
01 S22 A EX (M) 108,000 108,000 0
OENE S22 XH
400,000 %1, 350ha*20% 108,000
SN MM FHAZ X 156,000 170,000 A 14,000
= 46,800
= 109,200
301 dEtE M= 156,000 170,000 A 14,000
& 46,800
= 109,200
12 JEtE2 A= 156,000 170,000 A 14,000
OEANE Ma HHAZ XS 26,000,000kg*6& 156,000
= 46,800
= 109,200
EANZ MAZHZ NAY(FIR) 104,000 113,332 N9,332




N L1
HE: HLES B3
Sl 4SS B AW CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 104,000 113,332 A9,332
12JEEd=S 104,000 113,332 N9,332
OZSAZ2THHY Zed X 43 +26,000,000kg 104,000
MEZ HHES WOl XI& A 60,000 40,000 20,000
< 18,000
i 42,000
402 QI2EX201 ™ 60,000 40,000 20,000
< 18,000
i 42,000
02 LA TEALEZ(0IETHR) 60,000 40,000 20,000
OZAE BHegsSHIl X&
40,000,000 *3CH*50% 60,000
< 18,000
e 42,000
MEMAE S K3 130,100 144,000 A 13,900
J| 130,100
402 RIZEX20l A 130,100 144,000 A 13,900
J| 130,100
02 QI EAIL EZ (OIS ) 130,100 144,000 A 13,900
OEMNE BRETH E8 130,100
—EMNE HAH(BUHBS)AY 130,100
J| 130,100
MNSMAE JIHEH 2L XA (EAZE 180,000 240,000 A 60,000
ALY
J| 45,000
< 40,500
[ia 94,500
402 RIZ2HXt20l ™ 180,000 240,000 260,000
J| 45,000
< 40,500
[ 94,500
02 2IZt 2 AL EZ (01X ) 180,000 240,000 A 60,000
OEMNE BEH FHl XNEAS
150,000, 000& %3 *40% 180,000
J| 45,000
= 40,500
s 94,500
ANE SEZC X (EAE SEEI NY) 46,651 46,499 152
J| 14,000
[ia 32,651
101 @124l 38,651 38,499 152
J| 10,000
i 28,651
03 RIAHAZ 22 38,651 38,499 152
OZAlz S22l AAME JI23
2,000,000 «1H«120 & 24,000
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2N
X ZH -
L= B

el

=40
Zase YB3
Zaste YES NV

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 10,000
s 14,000
OAlIZ2+el =g 15,4403 x10Al 2+ 12& 1,853
O¢x=¢ 77,4403 x1H 13 1,007
OFUZ A 130,000 x1H x12& 1,560
O ZZ Il 1,814,000& *60%*23] 2,177
O&N3 1,814,000& x50%*23| 1,814
OESE = 100,000& =122 1,200
Oons=¢ 220,000& »12& 2,640
o8z 200,000 12 2,400
201 et 8,000 8,000 0
J| 4,000
s 4,000
01 At 2teltl 8,000 8,000 0
OXAE SE2el AN 2 S 8,000
J| 4,000
e 4,000
TAE S22 XA ZH 2E42(EMs SE2EIL 5,062 5,062 0
ua)
201 LEr2 Y| 5,062 5,062 0
02 2324l 5,062 5,062 0
OXZAMNZE ZeIXE A=Al 400,000& 400
OXZAE ZelXE BA =2 40
OXAE ZelXd |2l 1,900
O2NME 22X RFH
1,260& 1802|123 2,722
SIRLA AR EIMEAIY 80,000 80,000 0
< 24,000
s 56,000
307 21201 A 80,000 80,000 0
< 24,000
s 56,000
02 It S AHE L 80,000 80,000 0
Og: RAEE HEAMY
sSE & E & AEl 10,0003 #8,0005% 80,000
< 24,000
[ia 56,000
S OHXI A AtoHE K X & 8,000 13,700 A5,700
< 2,400
s 5,600
307 21201 A 8,000 13,700 A5,700
< 2,400
[ia 5,600
02 At FAAHEX 8,000 13,700 25,700




N L1
MY MBS HEs
Sl 4SS B AW CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSSO M AOFE T X & AFS 10,000& 8005 8,000
< 2,400
[ia 5,600
2 EAMLCXH LSS MG 80,100 80,100 0
402 RIZ2EX20l ™ 80,100 80,100 0
01 RIZE Xt 2 AL E = (REATH &) 80,100 80,100 0
OZZAL2IX(HE) HHESSAE
100,000& *2,6707H1 x30% 80,100
Ds8Edsr EZZLEAY 86,760 75,200 11,560
< 26,028
s 60,732
307 eIzl & 86,760 75,200 11,560
< 26,028
i 60,732
02 It M AHEE 86,760 75,200 11,560
Onsgds 52 ZHAL (XA A 60,360
< 17,908
[ia 42,452
Ons=gs =2 ZaM(Feay )
3,000,000& =23l 6,000
< 2,000
s 4,000
Ollsg8EdA E7 ZHAMNS(=sE2AL8E)
600,000& x343] 20,400
< 6,120
[ia 14,280
SMNANESEUSFAS (SA4Z0F ICTESE) 176,300 390,600 A 214,300
J| 176,300
402 RI2HXt20l 176,300 390,600 A 214,300
J| 176,300
02 212t 2 AL EZ (01X TH ) 176,300 390,600 A 214,300
O=4Z0F ICTe=28 NI MY 176,300
J| 176,300
ste 2EHEISEX X& 60,000 60,000 0
402 QI2H X201 A 60,000 60,000 0
01 2I2E 2 A B (RERTH ) 60,000 60,000 0
Ot IS NAY
60,000& *2,000% x50% 60,000
SteEsl MAUs =29 9,000 10,000 A 1,000
307 21201 A 9,000 10,000 A 1,000
04 DIZHHALALSE 2 X 9,000 10,000 A 1,000
Ost*83 Jtss0s dEUs X
7,000,000& » 14! 7,000




EXN: Fat
MY MBS HEs
Sl 4SS B AW CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
ONetsx sA0 stots 88U 3
2,000,000 =14l 2,000
SAAE XA 217,800 467,800 A 250,000
402 BI2H X 20| M 217,800 467,800 A 250,000
01 SIZEXIEANSE X (M) 217,800 467,800 A 250,000
OFAA=E XIS AE 217,800
— MRS A XNEAS
39,600,000 109K 2 x50% 198,000
— ElHIAF X & A 3,960,000& x10J4 2~ *50% 19,800
stHAZASISH KNSAY 12,800 14,000 A 1,200
& 3,800
= 9,000
301 et M= 12,800 14,000 A 1,200
= 3,800
iy 9,000
12 J|EtE2 A= 12,800 14,000 AN 1,200
OHBABUE ASH XV
400,000 *3204 & 12,800
o=t 3,800
= 9,000
SSMH ASAE 124,500 114,500 10,000
201 et 4,500 4,500 0
01 AP 2t 2] H| 4,500 4,500 0
ORMH B201E T HE
300,000 =15JH A 4,500
301 dEtE M= 120,000 110,000 10,000
12 JIEtE2 A= 120,000 110,000 10,000
ORsMH 25 HEXNH
1,000,000 *60H 2~ 60,000
O B20Z MMFAS
1,000,000 *60H 2~ 60,000
ZEANAYE SUHSIAIY (ZS Yl ) (2H]) 57,500 61,000 A 3,500
402 SI2FXHE0| M 57,500 61,000 A 3,500
01 CIZIXIEAIS B (MM ML) 57,500 61,000 A 3,500
Oo=sg&3 7,000,000& x50 2 x50% 17,500
Os&sED] 2,000,000 404! x50% 40,000
StNFsAIA 81,268 74,169 7,099
J| 48,760
= 8,127
= 24,381
301 et A= 81,268 74,169 7,099
J| 48,760
== 8,127




N L1
MY MBS HEs
el g E@3% N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 24,381
01 MEIBZE 06z 81,268 74,169 7,099
OtuRSAAY 429.989& «756H x250! 81,268
J| 48,760
< 8,127
[ia 24,381
=T EE sgel 23 N 300,000 275,000 25,000
= 120,000
s 180,000
307 21201 A 300,000 275,000 25,000
< 120,000
= 180,000
06 2= 300,000 275,000 25,000
OJ=MolE2E s RE=3 XA
1,000, 000& *30021 300,000
< 120,000
s 180,000
IIETHEE =0 22 NA(ZH F=IH2) 120,000 110,000 10,000
307 21201 A 120,000 110,000 10,000
06 23 120,000 110,000 10,000
OJ=EMoHEE sl BE=2 FIoF NEAMY
1,200,000,000& *10% 120,000
S=dH XNJ_AS 1,000 1,000 0
< 300
e 700
307 glz2tol & 1,000 1,000 0
< 300
s 700
02 YAFHAANHEE 1,000 1,000 0
OY=sg XA 200,000& *10&! *50% 1,000
< 300
s 700
Y esEMEEH 900,000 961,650 261,650
s 2 Mel XNE(82) 900,000 961,650 261,650
402 RIZ2HXt20l 900,000 961,650 A 61,650
01 212t 2 AL E = (REM ) 900,000 961,650 A61,650
ONE2LH(22) +2XEH X
5,000& *40,000m* x50% 900,000
=4 ZHH A5 8,627,398 7,391,855 1,235,543
= 2,023,526
J| 451,071
< 1,764,968
e 4,387,833
SEISMSIIE =4 168,025 1,065,033 A 897,008
< 30,380




EXN: Fat
a4 AW L
Ee: RIIFAIFIIE XM (2 &HH)
- L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o 137,645
ZA AEYA2AFMH KNSAS 23,000 15,840 7,160
< 6,900
= 16,100
402 IV X201 & 23,000 15,840 7,160
= 6,900
= 16,100
02 CIZEXIE AL EX (0| XM THL) 23,000 15,840 7,160
OZg A€ A 38 XA 23,000
= 6,900
= 16,100
NELE FHE MAXE 37,600 38,000 A 400
& 11,280
= 26,320
402 SI2F X0l ™ 37,600 38,000 A 400
& 11,280
= 26,320
02 IZEXIE AL EX (0| & THS) 37,600 38,000 A 400
O=At DI X K& 8,000,000& *7= JF*50% 28,000
= 8,400
= 19,600
OFNE BEN XS 9,600
= 2,880
= 6,720
s 884 ASY EAXNSIANY 17,625 0 17,625
402 SI2F 20| & 17,625 0 17,625
01 BIZtXIEAYE X (KM THK) 17,625 0 17,625
OJ%E 284 AS% £ NAM 17,625
— A5 SEEAY| 3,000,000 «10CH *50% 15,000
— ASEO 350,000& x 15 *50% 2,625
sSE42& WA NE 12,000 0 12,000
& 3,600
= 8,400
402 SI2F 20| & 12,000 0 12,000
= 3,600
= 8,400
02 QX2 A E X (0| HTHS) 12,000 0 12,000
OsE4+Z& MEEH XA 12,000
= 3,600
= 8,400
ZH o HAMUH AMIEEE HAAE 12,000 24,000 A 12,000
= 3,600
= 8,400
402 SI2FXH=20| ™ 12,000 24,000 A 12,000
= 3,600
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EXN: Fat
a4 B L
Sl RIYNBASIIY T4 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 8,400
02 BIZtXIEANYEX(0OIETHHA) 12,000 24,000 A 12,000
OZg 2 AXMUH AI=EZE WA
10,000, 000 2= J *60% 12,000
& 3,600
= 8,400
SALEE NS AR 50,000 517,800 A 467,800
402 SI2FXHE0| M 50,000 517,800 A 467,800
01 SIZEXIEANSEXR (MMM E) 50,000 517,800 A 467,800
OFAEH MEAS 50,000
— = Al cotvE XA 2,000,000& 502 x50% 50,000
s 594 B2AY 9,000 12,000 A 3,000
402 SI2vXHE0| & 9,000 12,000 A 3,000
01 It EANSE X (MM A) 9,000 12,000 A 3,000
Onsd A B3 AY  600,000& *305 *50% 9,000
EHAMA M AUFAIS 3,600 3,750 A 150
& 3,000
= 600
402 SI2FXHE0| M 3,600 3,750 A 150
= 3,000
= 600
02 CIZEXIE A EX (0| XM THL) 3,600 3,750 A 150
OJIXM X AtY 2,000,000 *3JH 2 *60% 3,600
o 3,000
= 600
SEXNE SE MRS (S ASH A Al A XA 3,200 3,200 0
o)
& 2,000
= 1,200
402 SI2FXHE0| M 3,200 3,200 0
== 2,000
= 1,200
02 CIZEXIE AL EX (0| THE) 3,200 3,200 0
OFZAMNSH HEAIAE XRALSH 3,200
=} 2,000
= 1,200
DI A& AIEI|EE =4 5,184 4,320 864
DI =& 42X 5,184 4,320 864
201 LBt 9| 2,304 0 2,304
01 AP 22| d| 2,304 0 2,304
Olleis4& E2 X S|
8,000 *3H *x8U x 1204 & 2,304
202 04| 2,880 4,320 N 1,440




N L1
My B4 AMY L3
S DicH=& A8 =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 2,880 4,320 N 1,440
O0IH=4 HR=A 20,0003 x3B 4L 120 & 2,880
=M 84 773,950 75,000 698,950
= 300,000
J| 3,000
< 141,000
[ia 329,950
LI K& A 253,450 0 253,450
402 QI2EXH201 A 253,450 0 253,450
01 U2 EALE X (XA M) 253,450 0 253,450
OLSIIAM K& 205,000
Ol XA 3,000,000& »5CH x50% 7,500
OM2MELD X& 5,500,000& »3CH x50% 8,250
OxgE 2ZE K& 5,000,000& =3CH x50% 7,500
Oz ZZM X 1,000& *30,0000H *50% 15,000
Ogs 89y sZM A&
12,000& *1,700S *50% 10,200
20l CHEa #HAXR 2,500 0 2,500
307 21201 A 2,500 0 2,500
04 QIZFHALAIH B = 2,500 0 2,500
O2dzol chatiial ALK&
5,000, 000& *1JH 2 *50% 2,500
A 4R 42,000 0 42,000
< 12,600
e 29,400
402 RIZER20| A 42,000 0 42,000
< 12,600
s 29,400
02 LA THEALEZ(0IETHR) 42,000 0 42,000
ONSE 2SIIAM XN& 75,000,000& *50% 37,500
< 11,250
[ia 26,250
OLxE=sIt 2 MazEd XA
3,000, 000& *3IH 2= x50% 4,500
= 1,350
s 3,150
EZE LMY 6,000 0 6,000
J| 3,000
< 900
[ia 2,100
402 RI2HXt20l ™ 6,000 0 6,000
J| 3,000
= 900
s 2,100




N L1
a4 B L
ool 2EMY 84 (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 6,000 0 6,000
OESYE sSd MY 300,000& »20& 6,000
J| 3,000
< 900
[ia 2,100
=225 SHAME 25,000 50,000 225,000
< 7,500
[ia 17,500
402 RIZEXt201 ™ 25,000 50,000 A 25,000
< 7,500
e 17,500
02 RIZEXt2 AL EZ (OIS ) 25,000 50,000 A 25,000
OfREE23 Ms KB AY
50,000,000 *1JH 2 x50% 25,000
< 7,500
[ia 17,500
MPgRs ¥ A2 29 25,000 25,000 0
201 L2l 25,000 25,000 0
03 S A2 bl 25,000 25,000 0
O NgDs 2 8 222 29
25,000,000 » 14! 25,000
EEMASIXAMNS (2SAMENZIISAE L 22 420,000 0 420,000
gD HEY )
= 300,000
< 120,000
401 AIEHIZL 20 420,000 0 420,000
= 300,000
= 120,000
01 A& Hl 414,582 0 414,582
O=FAZ HMZEISAIE SAtH
189,000, 000 14 189,000
= 135,000
< 54,000
O2SAMzE HMEZItSAIE dAHl 12,264
= 8,760
< 3,504
OAMgEa & g5 1) A=l 201,600
= 144,000
< 57,600
OAMzg=Ea & &5 &1 &l 11,718
= 8,334
< 3,384
02 2feldl 5,418 0 5,418
O23AME HIZIHSAIE Zeltl 2,646
= 1,890
< 756




N L1
a4 B L
ol 2EMY B4 (&t
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAngsEa & &5 &1 2l 2,772
= 2,016
< 756
FMELE HelX# 1,500,000 1,488,810 11,190
SHERE Ml NI 180,000 191,610 A 11,610
402 RIZER20| A 180,000 191,610 A 11,610
01 U2 EALE X (KA R) 180,000 191,610 A 11,610
OJ=E2aMel +2=2H XNAOIEIIS)
45,000& *8,000m" *50% 180,000
2% Eldlah X2 (KAL) 180,000 70,000 110,000
402 BI2HX=201 M 180,000 70,000 110,000
01 2I2E 2 A B (KR ) 180,000 70,000 110,000
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